[ Efficiency vs vertpos |

= 0.2p
SORT SOUR N— oo S—
4 C : : :

20.16
(8]

5 0.14F
© TF
$0.12
0.1
0.08F

0.06]
0.04
0.02

14
e
S

Efficiend

1072 107 1

10 0?
TP vertr (cr%)

M_original_originalvector_1000evt
M_original_1000evt
M_fitted4_T000evt
M_fit_nocpe_1000evt

|sjwlvle
olerele

~ 0.5

L s S S
s e
3 ST W .

o e

Vs

>

0.3
0.25
0.2
0.15
0.1
0.05

effic

T R e 2 e e R

%9 =20 -10 0 10 20 30

TP vert z (cm)

[ Effici

ency vs. sim PV z |

N 0.5
>

8.0.45
0.4
£0.35

Sim

o
[

efficiency

0.25

o
()

0.15
0.1
0.05

Ratio

0.9

B S SN RN SR
B S SN RN SRR
E P L. P L P,
St SR AP S
E o - el N e
E g et
E O * : :
Eooatsleed v | o i by e
H T1L : JITIE
v -
1 . -
. Sl B O S

0.8

0 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


